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(vi) U9 TRSAT 13-15 TUT 30-32 HT TY-ITRIT U €, FoFH TS & 4 3(h § | TP &l
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(viii) IR T dUT TUTHS BH TMeT dUT SHWR <t Ts AT & 3iavid sl fou oA
ElI

General Instructions :

(i) All questions in both the sections are compulsory.

(i) Marks for questions are indicated against each.

(iii) Question No. 1-10 and 18-27 are very short-answer questions carrying 1
mark each. They are required to be answered in one word or one sentence
each.

(iv) Case Based Question (CBQ’s) are Question No. 7-10 and Question No. 24-27.



(v) Question No. 11-12 and 28-29 are short-answer question carrying 3 marks
each. They are to be answered in 60 - 80 words each.

(vi) Question No. 13-15 and 30-32 are also short-answer questions carrying 4
marks each. They are to be answered in 80 - 100 words each.

(vii) Question No. 16-17 and 33-34 are long-answer questions carrying 6 marks
each. They are to be answered in 100-150 words each.

(viii) Answer should be brief and to the point and the above word limits should be

adhered to as far as possible.

qUs- & (@ARE IR
SECTION A (MACRO ECONOMICS)
1 Match the following: 1
A | GDP at Constant Price I Included in NI
B | Factor Income Il Nominal GDP
C | Transfer Income [ Real GDP
D | GDP at Current prices [V Not Included in NI
a) ii, iv, i, iii
b) iii, ii, i, iv
c) iii, i, iv, ii
d) i, iii, ii, iv
IGIEIGICREIRERIGE: AL
A | &R AT 9T Fehel B[ ISERT 3T | FiFAfed
3cdic
B | |reret 3mx Il | Fifgen Hehol T 3T
C | g&draRor 3 Il | arecfdes Herel B 341G
D | <oy dhrerdt TRGDP IV | sy 3 & FiEATed T8,
a) ii, iv, i, iii
b) iii, ii, i, iv
c) iii, i, iv, ii
d) i, iii, ii, iv
2 What is Money Multiplier? 1
OR
What is Money Supply?
FRT IO A& ?




37T
Hel i Fa1g ?

Time Deposits includes:
a) Saving account deposits and fixed deposits
b) Saving account deposits and current account deposits
c) Current account deposits and fixed deposits
d) Only Fixed Deposits
arafer A3 & afAT g
a) SO @Il SIHAT 3R AqEae S
b) =T WIdT STATY 3R Te] WIdT STATY

c) el WIdT STATY AR Frafer STATe
d) Fad gEafe FTATT

‘Dirty Floating’ is characteristics of which exchange rate system?
a) Fixed exchange rate system
b) Flexible exchange rate system
c) Managed Floating exchange rate system.
d) None of the above
TG ARoTeNerdar fohe fafe e ex goTelT T faQrwar g2
a) R [AfaaT &3 votrelT &r
b) ¥ fafaHT g3 yotel &t
c) Tafa fafasa g3 gomel &
d) 3Wied & q FIg Aer

‘Gifts’ received from abroad will be included in which items of BOP:
a) Current Account
b) Capital Account
c) Bothaandb
d) None of the above
Tt & uTee ‘3R’ a1 HcloleT 1 fohe He & e
a) e @rdT
b) Yoir @rer
c) aldta AR b
d) IWFd H & IS el

State whether the following statement is true or false:




“Flexible Exchange Rate system is completely determined by the
government”.

garst & Feafaf@d s« @ § ar 3

"IREceTelTel fafeia e ex T freiRoT qoierar e ganT fAeiRe fear siar g7

Read the following content and answer Questions 7-10 on the basis of

the same:

The most important determinant of consumption demand is household
income. A consumption function describes the relation between
consumption and income. The simplest consumption function assumes
that consumption changes at a constant rate as income changes. Of
course, even if income is zero, some consumption still takes place. Since
this level of consumption is independent of income, it is called
autonomous consumption. We can describe this function as:

C=C+cY (4.1)

The above equation is called the consumption function. Here C is the
consumption expenditure by households. This consists of two
components autonomous consumption and induced consumption (cY).
Autonomous consumption is denoted by C and shows the consumption
which is independent of income. If consumption takes place even when
income is zero, it is because of autonomous consumption. The induced
component of consumption, cY shows the dependence of consumption
on income. When income rises by Rs. 1. induced consumption rises by
MPC i.e. c or the marginal propensity to consume.

Source: NCERT Book.

oA & 915 T Areelt st 9few 3R 36eh MR WX 92 §&AT 7 {10 & 3%
arre |

SYHIET AT T HIH AgcaquT foTeiiTeh TRe] 3T & | Teh 3TN Bolel 3T 7T
3T H A I SATEAT FAT & | TIATH SYHIET Boled H Tg HATAT ST g, T
3T & gREdT 8is) & Grer-arer 399 # 2R T 8 gyRadT glar & f=:aeg, afe
3T L Y g1, oY T 3TN oY BIITT &,k ITSNT hr Jg AT 3T &
TadT &, 39 TIdT 3YHET FgT SATdTe | 5 SH Beld Sl SATEIT 3H Yh{
w -

C=CT+CY




FgT C, B 817 SaRT T a1T 3U3eT o § | g &Y 97ar & fAeTes a1 §
TAATITHE C T IR STHT () | FaAT3THC 3 aRT el & ST &
oTUT YE 3H 3TN T GRATCAT & ST 3T & T 8, TSk 3T oh e Bl 01 88
3THIT &1 BT &, df T TITT 3T & HROT § | 3TN &7 IR 31979 (cV),
SUHIET T 37 R TAFRAT T AT &, Afe 3 7 T 1 1 gefer gy, o aRe
39HYT 3 DATT 3THET 9gfy (MPC) 3r2cdc & TR Jefar gl

7 Marginal Propensity to Consume is the ratio of change in income and
(change in Saving/ in consumption).
AT 93T T, 3T H gRacte 3R ( ST #H IR ceT/398T &
qREcleT) T 39T BT o |
8 Consumption never become Zero although income can be become zero,
which is called (Induced consumption/Autonomous
Consumption).
3T Ee QT &1 Sffed O T 3UHIeT e o187 g, 39
(AR 3IT/EIT 3T Fga & |
9 | Which consumption is dependent on income
(autonomous consumption/ induced consumption)?
(Fada / IRd) 3THET 3T R R gar g |
10 | When Marginal Propensity to Save = 0.25, Marginal Propensity to
Consume will be :
a) 0.80 b) 4
c) 0.75 d) None of the above.
e, HATe e Y MPS =0.25, § off HIATT 3TET 9 feheteir giaf:
a) 0.80 b) 4
c) 0.75 d) 3TRIeFd H & HIg TeT
11 | What is Circular Flow? Show the circular flow in two-sector economy.
TShII TATE FT & ? IAcTaTAT F ar-8331 F ThiT JdTg o Yeid hiford |
12 | Differentiate between ‘Balance of Payment’ (BOP) and ‘Balance of Trade’

(BOT)




ATl {-igloio-l 3R IR {-igloio-i H 37aT Tqse hifar |
OR/37ar

Differentiate between Current Account and Capital Account of Balance of
Payment (BOP).
ST Tclolel o TTe] Wt AR YolaTeT @il & 3 TS o |

13

Explain ANY FOUR functions of Reserve Bank of India.

TR RS1a §oh & fohee! IR 1At 1 et HIfer |
OR/31¥ar

Suppose, Primary deposit of a Commercial Bank is 100 crore and LRR is
10%. How much credit can be created by the commercial bank. Show the

process.

I forelt arfrfSaes e 1 wraffes ST 100 #:0 3iR denfares Rard sregara
10% @ Y a8 doh fohclel XIS &1 AT TAHTUT T FohdT g TThaT SanT GHSSY |

14

In an economy C = 100+ 0.5 Y is the consumption function, where C is
the consumption expenditure and Y is the national Income. Investment
expenditure is 1000 crores.

Is the economy is in equilibrium at an income level of 2000 crores? Justify
your answer.

Teh HAHAEAT H C = 100+ 0.5 Y 3T Fele &. @l C ITHIT 37 3R Y
TS 37 . fAder sga 1000 Hs 7 |

FAT HIATEAT 2000 FS TI & 3T TR R HeJeloT H gHaM 7 379 e b Tat
Has Qo |

15

What is ‘Inflationary Gap’? Why it arises? Explain with the suitable
diagram.

"THITAS AT AT ' FAT§ ? TG FAT 3cUooT BIdT g ? 3T (@ITAT T TgIaT &
g RIS |

16

Write the meaning of following budgetary deficits. How they can be
measured?

(a) Revenue Deficit

(b) Fiscal Deficit

(c) Primary Deficit




fArfef@a sodia arel & aRATT ST | T T gre hd AT ST 67
(a TSI T
(b) TSt gTeT
(c) UTATH ©Ter

17

Are the following included in the estimation of National Income of a
country? Give Reasons.

a) Profit earned by a branch of an Indian Bank in London.

b) Financial Help to a COVID 19 patient.

c) Purchase of vegetables by a restaurant.

OR

Write down the precautions to find out National Income by Income
Method and Expenditure Method.
T [T S T TSET 31T & 3MTehelal & MR BRT? HROT SIS |
a) AR S T Teh 2MET GaART Fogel H ITToTd T |
b) COVID-19 & difsd cafard &l Ueret shr Iy 31T Tgrae |
¢) Ueh &N garT Afeardl i @l W Ed |

3dar
3 fafer 3R e fafe garT USERT 311 ATd - AT TW ST dTell Graeniaiar

IGIECN

3+3

SECTION B (Indian Economic Development)

yus- 9

18

The Great Leap Forward (GLF) campaign in China focused on:
(a) widespread industrialization (c) privatization
(b) new agricultural strategy (d) economic reforms
el H ‘AT olT BiRds' THITA chige IT:

(a) 3NfiepRur & Sgrar

(b) 778 T A




(c) TsteRoT

(d) 3T gur
19 | The WTO was founded in 1995 as the successor organization to -=«+----- i
(a) IBRD (b) GATT (c) IMF (d) IDA
1995 & T1fd faeg @R Gerad (WTO) fohd TaraeT ST 33remal/3a1iaery
qr.
(a) IBRD (b) GATT (c) IMF (d) IDA
20 | Read the following statements - Assertion (A) and Reason (R). Choose

one of the correct alternatives given below:

Assertion (A): Agriculture sector was exploited through Zamindari

system of land revenue during British period.

Reason (R): The land revenue systems of British period were not in

favour of Indian farmers.
Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion(A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not

the correct explanation of Assertion(A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

3R A 3R HROT R T 9g &, A FET a0 FET [evedt 7 F Ueh o

HIAFUT :(A) TSfeer e A FTHGRT sTawdr 3R HIA 91T & garT Hi¥ 817 &7




QMSOT fohT 31|

hROT (R): TSTeer shrer hr 871 oIaTeT cHaEAUT HRATT hvehl & 3feJehel oTet AT

e

(a)3TTAHYT (A) 3 HROT (R) Sl TT § 3R SHROT (R) 3THFYA (A) ST Tl
TISEHIT B |

(b) 3TTAFHUT (A) 3R FHROT (R) AT T § 3R HROT (R) TR (A) ST HEY
TISET 78T ¢

()31 PUA (A) TcT & oifehed IROT (R) 379 &

(d)ATHRUT (A) ITeTd § Afhed BROT (R) AT £

21

Read the following the following statements -Assertion (A) and
Reason (R).Chooseoneofthe correctalternatives given below:

Assertion (A): Agriculture marketing includes grading, storage and

transportation of the produce.

Reason (R): Agriculture marketing includes all the process like grading of

produce according to the quality,storageofproduceforsaleinfuture.

Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion(A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not

the correct explanation of Assertion(A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

HAHYA A 3R HROT R 1 9¢ R, A T 710 FEY fashodl & F Toh o
AR (A) P U0 7 HTY Scurel 1 AT, Toger AR IRageT Mfae




gl

ROT (R): i fa9ureT &, 3curel r Joradr & 37w AT, sifasy 7 foshr g
3caTal T g+t sy FfT gfshare enfAer g |

ICEToR

(@)3TAHYA (A) 3 HRUT (R) &A1 T & 3R FHROT (R) 31fHFUA (A) &7 Far
TISETHIOT & |

(b) 31T (A) 3R HROT (R) alAT T § 3R HROT (R) TR (A) ST HeET
TISEIHIIT 8T B

() 31fPPUT (A) TT & et 10T (R) Teid B

(d)ATHFRUT (A) ITeTd § Afhed BROT (R) AT £

22

Choose the correct alternative showing chronological order of the

following events:

(i) One child policy in China.

(i) Economic reforms in Pakistan.

(iii) New Economic Policy (NEP) in India.

(iv) Commune system in agriculture in China.

Alternatives:

(a) (i), (iv), i), (i) (e) (i), (iv), (@), (D)
(b) (iv), (i), (i), (iii) (d) (iv), (@), (i), (iii)

AT T3t & FTARATIR Gl fashedl F1 gA1a HIfT:
(i) =t & ‘Teh fA A |

(ii) TfepecTet # 31MTes FUN |

(iii) 9T & a3 s AfT |




(iv) =T o ST 8T F WFIATE cTaEAT |

e

(a) (i), (iv), (iii), () (c) (i), (iv), (), (i)
(b) (iv), (i), (i), (iii) (d) (iv), (@), (i), (iii)

23

In 2016, the Government of India announced demonetization of the

currency notes of which denomination:
(a) 100 Rupees  (b) 500 Rupees  (c) 1000 Rupees  (d) Bothb & ¢
OR

Goods & Services Tax ig sorereeeererreemeareneeeees ..tax (Direct Tax/Indirect

Tax)

2016 ¥ URA WBR A fba+ TUT & HT et &1 fagsimor v foan
Yr:

(2)100 39T (b) 500 ST (c) 1000 3T (d) b 3R ¢ Gl

3ar

TG T FAT AT (GST) Th o X § |(FcTeT/3T9cTeT)

Read, the following hypothetical Case Study, carefully and answer the

guestion numbers 24 - 27 on the base of the same.

Global warming is a gradual increase in the average temperature of the
earth’s lower atmosphere as a result of the increase in greenhouse
gases since the Industrial Revolution. Much of the recent observed and
projected global warming is human-induced. It is caused by man-made
increases in carbon dioxide and other greenhouse gases through the

burning of fossil fuels and deforestation. Adding carbon dioxide,




methane and such other gases (that have the potential to absorb heat)
to the atmosphere with no other changes will make our planet’s surface
warmer. The atmospheric concentrations of carbon dioxide and CH4
have increased by 31 per cent and 149 per cent respectively above pre-
industrial levels since 1750. During the past century, the atmospheric
temperature has risen by 1.1 °F(0.6 °C) and sea level has risen several
inches. Some of the longer-term results of global warming are melting of
polar ice with a resulting rise in sea level and coastal flooding;
disruption of drinking water supplies dependent on snow melts;
extinction of species; more frequent tropical storms; and an increased
incidence of tropical diseases. Among factors that may be contributing
to global warming are the burning of coal and petroleum products
(sources of carbon dioxide, methane, nitrous oxide, ozone);
deforestation, which increases the amount of carbon dioxide in the
atmosphere; methane gas released in animal waste; and increased
cattle production, which contributes to deforestation, methane
production, and use of fossil fuels. A UN Conference on Climate Change,
held in Kyoto, Japan, in 1997, resulted in an international agreement to
fight global warming which called for reductions in emissions of

greenhouse gases by industrialized nations.

Wed I e Hifd & 96 ¥ UHesy N # gfg & uRumRaEy
728t o e aTdTeRYT o 3id argaE | efR-49R afs 31 81a 8 § <t T8 S8R
SIHTA e Tt AHE-ORG g | I8 SharRd e & Sa- 3R gl Bl dels
& A1 § FIe- SRSfass 3R o MHgey il # aHq Fffd gfa &
HRUI BIdT & | BT SSATRISS, HRAT MR VAT 3= T (o T b7 Srafya
HRA DI &HAT G ©) DI [T 37 URIAH & 1Y IAER0 § Sie § §AR
U &I g TH g1 ST | FHTa STHTRIZS 3R WUF 4 B qRIHS AT Tl

1750 & ¢ ¥ Jd- 3l TR ¥ HH: 31 ufawrd 3R 149 ufawrd 941 §1
fUzelt Tdrsdl & GRM, IGHSHT argHE H 1.1 °F(0.6 °C) 3R IS TR |
®3s 39 g B8 © | 7T AT & e R &  $8 Ydd 9% &




foroeH @ qg da 8k g a1 H gfa Sidl §; 9% e R MR dgerd
3MYfcd & Fray™; TSTfadl & g 8 & =0 §; 3% daR Iudbicadig
IHM; 3R IUGieadia I & gia g8 g Taad and1 & Guree &R
a0 HRDI T PIaam R USIerad SdG! (Ple- SESfidss, HH, A5ed
HTTZS, 3o & ) P T §; a1 DI Pels, or aIdraRol § Hle-
STS3HGISS &1 AET 9¢ oTd! §; U Uiy § SRt MaF 19, 3R Uy Idred
H 3fS B3, Ol 1 Bt dels, Hid IdTe 3R SiaRyg S & I9anT | AT
GaT 1 1997 T ST & HICT | ST Saarg IRdd R Hgad Y & Th
e ® oy aiftfn @ @87 & fou we siff wugihar gen, oA
MNP T gRT FRT3w Tt & Il & FHft &1 Sgr foam

24

What is Global warming?

Tl AT FAT ¢ ?

25

Write the name of any two green house gases.

Pl gy et grza T & a1 ford |

26

From the following which are not a long-term results of global warming.

1) More frequent tropical storms

2) Disruption of drinking water supplies

3)
)

4

Melting of polar ice

Deforestation

frfaf@a & St seitae arfdier & Srdefers aRone ¢ &:




27

Write the full form of CFC..

CFC &1 qul &Y ford |

28

Discuss briefly the concept of ‘Casualisation of work force’ in the

context of Indian economy.
R I7VTTTAT & TEaT H 'SAT o A ITARIAIOT T &I H T R |
OR/31¥ar

Differentiate between Formal and Informal sector in respect of

employment and workforce.

FRIT 3R VPR & ol 7, e 31T 3taaes &3 & 37a¥ Tase
hforr |

29

Differentiate between ‘Economic Infrastructure and Social

Infrastructure’.

3T ITETT 3R ATATSS G H 37dX TS R |

30

What is meant by Liberalization of the economy? State the measures

adopted by the government to promote Industrial sector reforms.
OR

Briefly describe the features of the following concepts:

(a) Privatisation.

(b) Globalisation

3T & IERIAOT { 3T T FHSI 87 e aTeh &7 H FUR g THR
CaRT fohd 37T 3UTAT &l Jool@ T |

3dr

AT o3 i favdan fafa:




(a) ASieRToT
(b) dedreRoT

31

From the following table on sectoral contribution to GDP of India.
Discuss the difference in the contribution of the sectors in the light of

effects of development.

Sectoral Contribution to GDP

Sector 1950-51 1990-91

Primary 59 34.9
Secondary 13 24.6

Services 28 40.5
s U 91T SATfererT § HR & Hehol BYe] 341G H &TTaR ARG & TUR W,

7Tcgaryr & g 7 AT 8137 & TR1eeT & 3/aT i Tose HTS |
GDP # &3a) Ierg

av 1950-51 1990-91
CIEIEEED 59 34.9

MEGIEED 13 24.6
gar 28 40.5

32

What led to rapid growth in China, even when India, China and Pakistan

adopted the similar strategies of economic reforms ?

e AT R, et 3R ITfehedret & Teh SIE €1 e R i 0Ty 39=rs,
<teT 2T cfier TR gefer o & ST 387

33

What is rural credit ? Explain the institutional and non-institutional
sources of rural credit. Why institutional sources of credit are more

significant ?

ATHIUT TG AT §? FEARTA 3R IR-TEARTT ATHIOT TG b ATl T IrEedm
T | ARG FT GEARTT Jid 3T GHET F47 87




34

What is Green Revolution? Why was it implemented and how did it

benefit the farmers? Explain in brief.

R hIfal T &7 JE FAT @19 BT 1 3IR 58T FoRaTeAT ohT Shay oiTeT g A
aferd sarear Hifer |

OR/ 3tya1

(a) Differentiate between Goods and Services Tax(GST) and Minimum

Support Price(MSP).
(b) Differentiate between Import substitution and Export promotion.
(a) TEF TG FATH (GST) 3R wGeTeid FHIA Hed (MSP) # 3T Tuse HhifSH |

(b) 3T TATAI=T 3R AT GaaT & 3iaX Tase A |

3+3
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